ICS 43.020

GA

GA/T643—2006

The speed technical evaluation for vehicles

involved in representative road accidents

2006-08-29 2006-11-01







A W N P

GA/T643—2006



GA/T643—2006



GA/T643—2006

GA40

adhesion coefficient for longitudinal slippage

adhesion coefficient for transverse slippage

equivalent collision speed

brake harmony time

75%

GA40

GA40



GA/T643—2006

5.1.5 B Bl 1

5.2.5 B Bl 2

5.3.5 B B1 3



B B1 4
B Bl 5

B B1 7

- B
o [

D

GA/T643—2006

B B1 8



GA/T643—2006

S = ——

6

5.8.5 B B.1 10

o1 o1 o1 O
© ©O© © ©

ol
©
~

B B1 11

B Bl 12 B B.1 13



GA/T643—2006

N



GA/T643—2006

)
Al
Al

t v=s/t
S
¢ a = ogk
K 9
g
a
s V =4/2as
v
a Vv =4/V® + 2as
r rg(e +tano)
@ Ve oy

(1-¢ tanb)
0
g
. _ [od
h 2h
g
ml _ mz(Vl_Vz)
i O e,
Vl
Va V. = ml(Vz _Vl)

e2

m +m,
X v=105.3x/3.6
X

v =[35.8mx/(m, +m,)+4.6]/3.6




GA/T643—2006

Al
MM MV, + MV, = MV, +m,V,
Vl V2
v, v,
;/ v'=%¢gkt+\/v2+2as
®
K
a
S
g

g

9.8n/s’

n/s’ r m d




GA/T643—2006

B.1
B.1

mi\/2(01951k1 * mz\/Z(PzgSzkz %3.6
m, +m, '

m 4/ 2p,0s.k, + m, 2¢,9s,K, %3.6

m, +m,

v, =105.3x, +

v, =105.3x,m, /m, —

- km/h

| IEENEET
|

9.8m/s’

@ x & &S 3.<

2 “ 2 1 1

v, =/29(emsk, + f,m,s,)/(m +m,) x3.6+ M,[2x17.9x, /(M +m,) + 4.6/ m]

V, = /20(emsk, + f,m,s,) /(M +m,) x 3.6—2x17.9mx, /(m, +m,) - 4.6

v, V, — kn/h

m.m— kg

» —

k1 -

S S — m
f, —

X, — m

g — 9.8m/s’

v, = (y/29¢,k;S, cosa + %JZg(pzkzs2 sin3)x 3.6




GA/T643—2006
B-1C )

Vv, = (%JZ(plgklsl sna +4/2¢,9K,S, cos ) x 3.6

ViV, — km/h
P P —

K, k, —

S S — m

m m — kg

a [ —

3.6 —

g — 9.8m/s*

V, = 1/2g¢kscosd x 3.6

vV, = 1+ m \J20¢kssing x 3.6

m, + m,

Vv, = 4/2g¢kscosd x 3.6

v, = 1+% J2g0kssin6x3.6

2

v, V, — kn/h
m o m, m, — kg

k —

S — m

¢ _

6 —

3.6 —

g — 9._8m/s’

vo (MM ag0p 4 12)
1+m, /1950

vV — km/h

m m — kg
D — m




GA/T643—2006

B.1
g — 9._8m/s’
5
" M, C0S6, /20,8, ++/2gm 1, cosd, (Jh+s, /u, —/h) 36
L m, +m, '
V. = n.ﬁsnel\lzg/ulsl +\/Emplups.n9p(\[h+sp/zup _\/ﬁ)+m2V2g¢2k252 X36
2 mz .
v, V, — km/h
6 m m, m — kg
k, —
S S S, — m
Hi @ Hy
6, 0, —
g — 9._8m/s?
h — m
3.6 —

V, +/20¢ksxsind x3.6
V, +/2g¢ksx cosdx 3.6

, v, V, — kn/h
k —

S — m

¢ JRS—

6 —

3.6 —

g — 9.8m/s’°

v, = W«’Zg(ﬂkﬁ x 3.6

v, — km/h
m m, m — kg

k —

10




B.1

GA/T643—2006

V —
/Llp—
X —
h —
3.6 —

g — 9.8m/s?

km/h

10

v=1/2gf(yh+x/f -/h)x36

vV —
X —
h — n
f —
3.6 —

g — 9.8m/s’

km/h

11

v =67l

vV —
| —

km/h

12

V=,20(uxi)xsx3.6

g — 9._8m/s?

km/h

13

v=11.27s/+/sth

km/h

1




GA/T643—2006

B.1
S —
m
13 h
B.2
B.2.1 B.2.8
B.2.1 0
B.3 k 17X @
0.97 0 +0.08
B.2.2 k k 1 k 0.5
k k
0.7 k 0.2 0.3
B.2.3 S
S
B.2.4 f
B.3
B.2.5 1 B.3
B.2.6 [
B.2.7
B.2.8
X1 + X
Uy X:%X)ﬁz 2
Yi °
| X—
X2 Xl__ Xz__
Yi— Yo—
B.3
B.3.1 B.3.5
B.3.1
48km/h 48km/h 48km/h 48km/h
0.80 1.00 0.70 0.85 0.50 0.80 0.40 0.75
0.60 0.80 0.60 0.75 0.45 0.70 0.45 0.65
0.55 0.75 0.50 0.65 0.45 0.65 0.45 0.60
0.80 1.00 0.60 0.70 0.50 0.80 0.45 0.75
0.60 0.80 0.55 0.70 0.45 0.70 0.40 0.65

12



GA/T643—2006

B.3.1
48km/h 48km/h 48km/h 48km/h
0.55 0.75 0.45 0.65 0.45 0.65 0.40 0.60
0.50 0.60 0.35 0.60 0.30 0.60 0.25 0.55
0.40 0.70 0.40 0.70 0.45 0.75 0.45 0.75
0.50 0.70 0.50 0.70 0.65 0.75 0.65 0.75
0.10 0.25 0.07 0.20 0.05 0.10 0.05 0.10
0.30 0.55 0.35 0.55 0.30 0.60 0.30 0.60
B.3.2
0.3 0.4
0.3
0.4
0.5 0.7
0.5
0.4
0.2
0.6
0.55 0.7
B.3.3
SLI25 0.31 0.40 0.53 0.67
3.50 0.36 0.43 0.62 0.72
XBSOOR 0.35 0.42 0.65 0.76
BMW R900 0.31 0.42 0.72 0.87
Harley DavidsonFLH 0.36 0.51 0.63 0.88
B.3.4
71kg 44kg
0.52 0.44
0.42 0.44
0.32 0.26
0.57 0.5
0.52 0.48
0.44 0.5
0.52 0.56
0.46 0.5
0.35 0.36
0.46 0.52

13



GA/T643—2006

B.3.4

71kg

44kg

0.54

0.56

0.56

0.65

0.58

0.59

B.3.5

0.01

0.011

0.014

0.02

0.04

0.08

0.12

0.16

0.2 0.3

14




(1]

(2]

(3]

(4]

(5]

(6]

(7]

(8]

(9]

[10]

[11]

[12] GB7258-2004
[13] GB/T11797-2005
[14] GA41-2005

038GS

2004

2001
2002

2000

1987

GA/T643—2006

15



